AZKHEH 1: fo1son )
F1=100N

No vroAoyietovv A B

ot A1 Kot Ay,

Aa Az

AYXH:

SF=0=>A-F+A-F,=0=>A +A =F +F, = A +A, =100+150= A + A, = 250N

SM, =0=A20+F *3-A,*(5+3) +F, *(2+5+3) =0= A, *8=-F, *3-F, *10=
_E *2_ * _ *Q_ * _ _ _
o p _"R™-F*0__-1003-150*10  , _-300-1500_ , _-1800
8 8 8 8
= -A, =-225= A, =25N

A+A=20=>A=20-A, = A =250 -225 = A =25N

AYXYKHXH 2:

EEEE— F1=80N 1O I
Na vroAoyioTovv A B
ot A7 Kot As. 3 6 4

A Az
AYXH:

Z:F:0:>—F1+A1—F2+AZ:O:>A1+A2 =FK+F,=>A+A =80+110= A + A, =190N

>M, =0=-F, *3+ A%+ F, *6— A, *(4+6) =0=-A, *10=F, *3-F, *6 =

F,*3-F,*6 80*3-110*6 240-660 -420
- = -A = = = =

e = _— — —_— —_ =
A 10 10 & 10 & 10

—-A, =42 = A =42N

A+A =190 = A =190 -A, = A =190 —42 = A =148N



AXKHXH 3:

+ )
-

F1
F

F,=50N i
F,=80N
Noa vroioyiotodv A =
ot A1 Kot Ay, 5 6 3

e i

A1 A2

AYXH:

ZF:O:>A1—F1—F2+A2=0:>A1+A2:F1+F2:>A1+A2=50+80:>A1+A2:130N

SM, =0= A20+F *5+F,*(6+5)~ A, *(3+6+5) =0=-A, *14=—F, *5-F, *11=

-F*5-F,*11 -50*5-80*11 —250-880 —-1130
ShS T TR R R T

— A, =-80,71= A, =80,71N

A+A =130 = A =130 - A, = A =130 80,71 = A =49,29N

AXKHIH 4:
v

F,=60N 3 F2 Fa

Fz =90 N

F2=110N

No vroAoyistovv

ot A1 Kot Ay, 4 7 5 3 -

AYXH: A A2

ZF:O:—F1+A2—F2+A2—F3:O:>A1+A2:F1+F2+F3:>A1+Az:6O+9O+110:>
= A +A, =260N

> Mg =0=>F, *3+ B F, *5+ A *(7+5)~ F,(4+7+5) =0= A *12=—F, *3+ F,*5+ F, *16 =

* _ *0 _ * * _ *E __ * — — —
:>A1=F1 16-F,*5-F, 3:>A1=60 16-90*5-110 3:>A1=960 450 3SO:>A1=960 780:>
12 12 12 12
:>A1=%:>A1=15N

A+A =20=2A,=200-A = A, =200-15= A, =245N



